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Example


It is possible to argue that a good diet can lead to higher educational performance.   In a recent study in Greenwich, the proportion of children reaching the required standard in English at the end of primary school rose by 4.5% when school meals were radically improved (Cousins, 2009, p.12).





It is possible to argue that a good diet can lead to higher educational performance.   In a recent study in Greenwich, the proportion of children reaching the required standard in English at the end of primary school rose by 4.5% when school meals were radically improved.4


______________


4. Jane P. Cousins, Children’s Development, 2nd edn (Boston: Ariel, 2009), p.12.





Different names!


Quoting/citing


= using someone else’s work/words





Add reference


=where from 





Different reference styles!








Your point 


Advertising is a feature of modern life, but opinion is divided over what impact, if any, it has on children.  There is some evidence to suggest that it is not as influential as many people think. 





Supporting evidence 


(Original text on page 103 in book by Professor Rachel Robbins, Advertising in the Spotlight, published in 2003)





Television advertisements are not the problem as they are far less intrusive upon children's lives than is imagined.  Research done by myself in 2001 in 38 local schools, shows most children between three and thirteen spend only 1.4% of their waking time watching television advertisements.  











Why?


Use other people’s work to support your point 


(or, your point is result of other people’s work!)





i.e. make your argument stronger





Language





How?  1. Indirect (paraphrasing)


= rewrite in your own words








Advertising is a feature of modern life, but opinion is divided over what impact, if any, it has on children.  There is some evidence that it is not as influential as many people think.  Robbins (2003, p.103) argues that advertisements are unlikely to affect children, given that those between the ages of three and thirteen spend less than 2% of their day watching them.


 














Advertising is a feature of modern life, but opinion is divided over what impact, if any, it has on children.  There is some evidence that it is not as influential as many people think.   Robbins (2003, p.103) argues that ‘they [advertisements] are far less intrusive upon children's lives than is imagined.  Research … shows most children between three and thirteen spend only 1.4% of their waking time watching television advertisements’.





Advertising is a feature of modern life, but opinion is divided over what impact, if any, it has on children.  There is some evidence that it is not as influential as many people think.   Robbins (2003) argues that: 


they [advertisements] are far less intrusive upon children's lives than is imagined.  Research …  shows most children between three and thirteen spend only 1.4% of their waking time watching television advertisements (p.103).














How?  2. Direct 


= use the original words








“ ” APA/MLA


‘ ’  Harvard/MHRA





:


indent (4 lines +)





[ ] to add words





... /[...] to show missing words





Introduce the quote/paraphrase	Make significance clear?/conclude?





Robbins 	   states		This shows 


   suggests		This implies


   considers		This would seem to indicate	


   points out		The evidence suggests


   argues		Given this research, it is arguable that


   proves		Thus it could be concluded


 (avoid says/writes about/talks about)
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